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Positions by Turn

—Bob 1 L L] L] L] - - - - - - L L] L] - - - - - - L] L] - L] -
e Bruce 2
Tim 3
s Marshall 4
Chuck 5
e Jack - 6
©
= Doug = 7
£

= Giuseppe 8

= Bruno 9

m— SCOtt 10

= Kent 11

emes Fabio 12

e Chris 13

0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36
Turn Number

Bob 11 2 11 2 1 11 11 9 7 6 5555 6 5 5 5 4 91010 8 8 8 8 8 8 5 5 5
Bruce 2 2 4 2 4 4 4 3 3 3 2 10 8 8 8 9 9 9 9 9 9 9 9 2 2 2 2 2 2 2 2 2 2 2 4
Tim 3413 21356577 3 3 2 2 2 2 2 3 3 3 45 10 9121213 9 910 9 8 9 9 9
Marshall 4 3 3 4 6 5 6 4 4 4 4 2 2 2 3 4 4 4 6 5 8 8 8 8 12 11 11 11 11 12 11 12 12 10 10 10 10
Chuck 55555 6 5 6 5 6 5 6 11 11 11 12 11 11 12 111211112 6 6 7 7 7 7 6 7 5 6 6 6 6
Jack e 7 7 7 7 7 7 7 7 7 6 5 10 10 10 10 10 10 10 10101010 3 3 4 3 3 3 3 6 7 7 7 7 7
Doug 7 6 6 6 3 3 2 22 2311111111111 11 111 11 111 1 11
Giuseppe 8 8 8 8 8 8 8 8 8 8 8 8 4 4 4 3 3 3 3 2 2 2 2 4 4 5 5 4 4 5 5 6 513
Bruno 9 9 9101010 9 910 910 9 5 5 5 6 6 6 4 4 4 4 3 5 5 6 6 6 6 7 3 4 4 4 3
Scott 10 10 12 11 12 12 12 1112 12 1211 8 6 7 7 7 8 7 7 6 7 7 7 13 13 13 13 12 13 12 11 11 9 8 8
Kent 11 12 13 13 11 11 11 12 11 10 11 12 6 12 12 12 12 12 12 13 13 1213 8 8 8 9 10 10 10 13 13 13 12 12 11 11
Fabio 12 1111 9 9 91010 911 910 7 1313 13 1313 1312121312 7 7 3 4 5 5 4 4 3 3 3 2

Chris 13 13 1313 9 9 9 8 7 8 8 7 6 6 6 1112 8 9 911 10 9 10 11 11 12 12

[
o
[
N
[
w
[
w
[
w
[
w
[
w
[
w
[
w



Gaps by Turn (spaces behind leader)

g B0

e Bruce
Tim
e Marshall
Chuck g
©
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@
= Bruno o
0
e— SCOott
o Kent
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Chris :
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36
Turn Number
Bob 0O 0O0O0OO1 0 0 0 00O 13 10 11 13 11 101110 8 7 3 O 12 10 11 12 10 9 8 8 6 5 5 5
Bruce 0 01 011 2 2 2 11 14 12 1316 151514151311 6 1 1 1 0 1 1 2 3 2 2 1 2
Tim 1 1 01 00 2 2 4 3 6 6 6 3 6 6 46 46 55 21 12 10 11 1412 9 9 9 7 8 10 13 9
Marshall 2 1 0 2 1 1 3 2 3 2 4 3 4 2 7 8 6 9111011 9 5 2 14 11 11 13 12 10 10 10 9 9 11 14 9
Chuck 2 3 2 2 112 2 4 3 5 5 18 19 1921 1916 1816 16 10 6 8 7 6 8 7 5 7 5 5 5 5 7 6
Jack 2 4 4 4 2 2 4 3 5 4 5 5 1818 19201916 16 1513 8 4 7 6 4 6 6 4 6 5 6 6 7 7 6
Doug 33330011113 0O0O0O0O0ODO0O0OO0O0OGO0TO0O0 0O 0O0OOO O OO OOO0OTGO0OTO
Giuseppe 3 6 7 6 9 8 6 7 7 6 8 8 8 5 8 7 4 7 4 6 4 4 0 7 6 4 7 6 4 6 4 5 4
Bruno 4 7 8 7 9 9 6 8 8 710 911 91014111010 9 7 6 O 7 7 5 7 7 5 7 4 4 3 2
Scott 4 810 91212 9 9 91012 10 12 10 11 14 13 12 1110 9 8 4 2 15 13 12 14 12 11 10 10 9 8 8 7
Kent 5 9111011 11 910 8 9 12 10 11 24 24 24 24 21 20 21 1912 7 9 10 8 10 13 10 10 12 10 11 10 13 15 10
Fabio 5 8 9 7 9 8 7 8 8 910 10 12 25 25 24 26 23 21 21 18 12 6 7 4 7 6 4 6 4 3 2 2 1
Chris 6 9 9 912 12 10 12 12 12 14 13 16 13 14 16 13 11 12 11 9 8 3 1 13 11 10 12 10 10 9 9 8 9 13 16 11



Hockenheim, 3 laps plots and splits are written as turns +/- 81 ends on the last space of corner #2; 82 the space prior to corner #5's arrow @ />
Sep-09 to spaces across the line race best split ector/lap's best sp 2nd best split 3rd best split max
9 0 g T J|acc grd Ql 8 8 8 lapl| 81 8 83 lap2| 81 8 83 lap3 aSpd top
c cl= 8§ [brk prm| T+Sbid| turn turn turn pit?| turn turn turn pit?| turn turn turn| pts |aPos | accel
driver, car E 3|3 es top opt sklf tire[ split split split tire| split split split tire| split split split] total | aGap| brake
Doug Schulz spd 140 0T 40 100 Q7| P6 P2 P1 P1 P1 P1 11+0| P1 P1 P1 11+2 1286 7/1
Yellow T+S 0SS 40 13r{2+1 2.6| 3+1 8+3 11+2 no |13+0 18+0 24+2 yes |26+0 31+0 35+4 1.9 41
e P|Gap 1+1 -les 160 9T 158| P ‘8 5+2 3-1 540 4+2 O | 2-2 5+0 4+4 | O 0.5 6/0
oT 0-4 10+1
oS
0 2-1 | 5+2 3
Bruno Passacantando spd 160 orT 40 40 Q9| P10 P8 P5 13+9| P6 P4 P4 RKE P6 P4 P3 10+1 129.1 9/8
Silver, Red T+S 1s 18 40 16T|1+1 15| 4+3 9+2 13+6 no |15+2 20+3 25+2 vyes |27+1 32+2 35+3 6.4 4/2
— P|Gap 3-1 140 12T 218| P | 4+6 5-1 4+4 2-4 31 O |21 5+1 3+1| 5 7.1 5/0
Bruce Lavoie nd 40 oT 0 100 Q P P s 11+3 EE P8 7 11+2 = P P/ 4.6 0
Bla aroo 0S 0 16 0 4 8 e 0 / 0 6+0 / / 0
P|Gap 4 40 O 4 3+0 = 6 0 2-1 WRY 10 0 0
oT 10+1
oS
‘8 5+0 3+1 2-1 5+1 3+1| 8
oT
18
4 5+1 0
oT
0s
3+0 2-1 0
oT 10+2
oS
3+0 2+0 5+1 3+1| 2
0 5 ofs 00 30 2T 60 100 Q P PG P P = P8 P P9 P9 8.4 0
Red, Read 0S 00 4 3+0 4 0 4 O+0 0 e 8 4 o) 0 o0/0
P|Gap 9 9-10 s (=1 60 6 9 P / 4+ O 5+2 W 0 3 6
arshall Co ofe 00 00 oT 60 100 Q4 P4 P4 P P P P10 P P P10 0.0 8/0
Purple, Purple 0S 60 OT O 8 0 0 4 0+4 e 8 o 6.9 6/0
P ap 0-14 0 00 O O P 4 4 3-1 O 2-1 4+4 1 0.8 0
Kent Lewellen spd 120 80 0T 80 40 Q11| P11 P9 P12 13+12 P12 P11 P7 11+0| P10 P13 P11 11-2 1232 91
White, Black T+S 1t 0S 60 13T O O | 4+1 9+0 15+7 vyes [17+5 22+2 26+7 no |28+3 33+0 37+5 11.2 1/0
R P|Gap 11-15 12-13 160 9T 98| O | 4+6 51 4+7 P 5-3 445 2-4 53 4+5| 0 12.8 411
a O ole 0[0 60 2T 60 60 O P P PO 8 PO P6 P 11+2 PO P10 P 0 o)
Black, Bla 0S 40 0 0 4+0 10 0 0 20 6+4 ye 8+4 / 0.4 6/0
= ap O 60 O O P 4406 0 3+0 4+4 O 2+0 4 4 0.8 4
Giuseppe spd 0T 40 60 Q8 P8 P7 P4 12+5| P4 P2 P3 11+1| P5 P6 128.2 7/3
Peach, Red T+S (O 40 16T|2+1 2.6| 4+3 9+3 12+2 no |14+0 19+0 25+3 yes |[27+1 32+1 0 53 2/5
mmmmmmmmmm P|Gap 160 9T 158| P | 4+6 5+0 3-1 540 4+3 O | 2-2 5+0 6 58 5/2
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